
Cut Sheet

 

1 2

3
7

4

2
5

6 8

 3.5 

 6.1 

 2.24 

ITEM NO. DESCRIPTION QTY IN KIT
1 NUT, FLANGE 5/16-18 SST 1
2 WASHER, BONDED 2
3 L-1X5, BLACK 1
4 LAG SCREW, 5/16X4 1
5 ASSY, PEDESTAL 1 1
6 FLASHING, TILE REPLACEMENT, S TAN 1
7 FLASHING, TILE REPLACEMENT, FLAT TAN 1
8 FLASHING, TILE REPLACEMENT, W TAN 1

Part Number Description
KOB-1L01-B1 Tile Replacement Base and Hardware
KOF-S01-T1 Tile Replacement Flashing, S Tan
KOF-F01-T1 Tile Replacement Flashing, Flat Tan
KOF-W01-T1 Tile Replacement Flashing, W Tan

Knockout Tile

v1.10



Cut Sheet

 

 .67 

1/2"
Head 5/16" THD

 .28  .35  .75 

 .14 

 4.0 

5/16" THD
 1/2" HEAD 

 2.24 
 1.13 

 .31 

5/16-18 THD

C

B

A

 5.0 

 1.92 

 1.25 

 2.0 

 .35 

 4.58 

 2.0 

 2.04 

 3.1 

3) Lag Screw, 5/16 x 4

4) L-1x5, Black

1) Nut, Flange 5/16-18 SST 2) Washer, Bonded

5) Assy, Pedestal 1

Items 
1,2, & 3

Property Value
Material 300 Series Stainless Steel

Finish Clear

Item Description Material Finish
A Screw, Set 5/16-18 x 1.5 SS 300 Series Stainless Steel Clear
B Simple Seal EPDM Black
C Pedestal 1 Aluminum Mill

Property Value
Material Aluminum

Finish Black

v1.10



Cut Sheet

 

 17.0 

 11.8 

 17.0 

 12.3 

 17.0 

 12.5 

7) Flashing, Tile Replacement, Flat Tan

6) Flashing, Tile Replacement, S Tan

8) Flashing, Tile Replacement, W Tan

Items 
7,8, & 9

Property Value
Material Aluminum

Finish Tan
v1.10


